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SN BFIUDY
N BYLCAHE (BYES/BY DS UL
Sol: ASHIN BHHH =X (erel: @ 2
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
[T < 40,000
HEA =MEA X4 7,368,360 1,506,760 5,861,600
= 6,618,000
= 750,360
HEA =SMCAl AEES (2 D) 5,426,760 1,506,760 3,920,000
= 5,000,000
< 426,760
202 01| 6,760 6,760 0
01 2ULH0IH| 6,760 6,760 0
OSMTAl NEEA =3 6,760
403 X+XISHAIS KH2 01 & 5,420,000 1,500,000 3,920,000
= 5,000,000
= 420,000
01 RXSHI=EE 5,420,000 1,500,000 3,920,000
OMEA =SMEA HEAY 5,420,000
= 5,000,000
< 420,000
ZEMEHUEYITE(2D) 1,080,000 0 1,080,000
= 900,000
= 180,000
403 X+XISHAI S KH2 01 & 1,080,000 0 1,080,000
= 900,000
= 180,000
01 RXSHI=EE 1,080,000 0 1,080,000
O==MY =Y 1,080,000
= 900,000
= 180,000
BAIZAL BASYT278(2D) 861,600 0 861,600
= 718,000
= 143,600
403 XiXISHHISKH= 0l & 861,600 0 861,600
= 718,000
= 143,600
01 RXSHMAZLE 861,600 0 861,600
OBZFIIZAL SASYT2 Y 861,600
= 718,000
= 143,600
18z 28 (8HL5/01)) 6,181,290 7,214,590 A 1,033,300
= 3,580, 100
= 2,601,190
B AL 699,530 230,380 469,150
= 608, 100
= 91,430
ZEAALAMH PE(2D) 13,650 19,500 15,850
= 9,100




SN BRI
= GoIBR 2H(SRRS/00)
&2l QIS AL 22 (ctel: &
_ _ HE T
SN B SRA(SIH) - MBAY - BAS 01l & o4 e HlnE2
& 4,550
307 212t01& 13,650 19,500 A5,850
= 9,100
& 4,550
02 2ItAASE X 13,650 19,500 25,850
o025 NAsSsFII| 2GS XA (1HLA) 13,650
= 9,100
& 4,550
QE=E HHEAE 2el 15,000 16,000 21,000
202 O4dl 11,000 11,000 0
01 =Yl 11,000 11,000 0
otiEgda NE&EH L QALYRFA 11,000
301 Yptsaazg 4,000 4,000 0
10 EALAHIEA S 4,000 4,000 0
Ot - FF2HUANE gs&EZ & JI=XE 4,000
A2 QARAXS IINE At (=12) 670,880 194,880 476,000
= 599,000
L= 71,880
403 X EHMEAH=01H 670,880 194,880 476,000
= 599,000
& 71,880
01 AXEMA=2E =R 670,880 194,880 476,000
O=Cde 284 XY HIIMHA 670,880
= 599,000
& 71,880
ded HOIQUHE sk H= 3 AMY 5,481,760 6,984,210 A 1,502,450
= 2,972,000
L= 2,509,760
HFAINATISIHNGY) BE2(212) 808,000 957,450 A 149,450
= 622,000
= 186,000
403 XXM SA=201H 808,000 957,450 A 149,450
= 622,000
& 186,000
01 MXESMA=2E =R 808,000 957,450 A 149,450
OFAHIA TSI B2 808,000
= 622,000
= 186,000
HSZHOIQNE NS HE235t 43,760 26,760 17,000
201 B3| 20,000 0 20,000
02 =234l 20,000 0 20,000
OHIOI2ME TUHSX HZ3 AIES X 00Ol
e sAEdRY3 20,000




SN

Ha: o) SAB5/010])
CHel: A HIOIQHE NS 9235 ALY L
_ _ SIEN
2N -3 - c2(3H) - NEME - HES Ol & oK 'oﬂ/'\_WH HunsZ
202 OiH] 6,760 6.760 0
01 ZLHoiHI 6,760 6,760 0
OHIOIQME e R=X 6,760
307 2I2+0I& 17,000 20,000 A3,000
02 DIZHANEX 17,000 20,000 A3,000
OO0} - ENH A IIAXI S BINGY A2 17,000
HIOIQME XISX ¢25H(2D) 4,200,000 6,000,000 A 1,800,000
2 2,100,000
= 2,100,000
403 KHXICHHI S XH=0| & 4,200,000 6,000,000 A 1,800,000
2 2,100,000
= 2,100,000
02 ZII2SOICHEHOHE AL b 4,200,000 6,000,000 A 1,800,000
OHIOI2UE XIS X o123 4,200,000
2 2,100,000
= 2,100,000
NSNS IIA 22 (2 D) 300,000 0 300,000
2 150,000
= 150,000
403 XX SHHIS K20l & 300,000 0 300,000
2 150,000
= 150,000
01 XXISHA=2E R 300,000 0 300,000
OFHINSHH 22 300,000
2 150,000
= 150,000
2012 IANGV =& EXPO MW (=2 D) 130,000 0 130,000
2 100,000
= 30,000
308 XX CHAISOIF 130,000 0 130,000
2 100,000
= 30,000
01 MXSHHIMNSED 130,000 0 130,000
OMHEANATISXI2012 =HEXPOINE X 130,000
2 100,000
= 30,000
MESA N (BASE/HIIS) 13,573,854 22,370,073 8,796,219
2 9,998,000
= 3,575,854
MEH HOIZ SEXe 1,175,121 884,073 291,048
2 544,000
= 631,121
SIE U BIRAMYD| HEH(2D) 613,941 358,200 255,741
2 544,000




SN BATHY
Mo MeEy H(BLRS/HIIE)
el ME HIIE S8 (el & 2
o - o HAc
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il b o B2
= 69,041
403 X+ GRS XH2 0/ & 613,941 358,200 255,741
= 544,000
= 69,941
01 XIS A2 25 613,941 358,200 255,741
OftE L FHRAMY | Hat 613,941
= 544,000
= 69,941
HOIZ9 RN Hel 496,500 525,873 129,373
202 01t 8,500 8,500 0
01 =LH0iHl 8,500 8,500 0
ONEzs HEE AREZ 8,500
308 XHXISHH SO & 488,000 488,330 A330
01 MXSHAZHEES 488,000 488,330 £330
OUABALAY 2% 488,000
Hsor8lR )M SS2(2INFN) 64,680 0 64,680
403 RHXISHSR20|H 64,680 0 64,680
02 BJI2HS 0 CHEHCH 8 AR bl 64,680 0 64,680
OsoEY, BNRE £)AY 23 64,680
HolZ XN L2 E 12,398,733 21,486,000 ~9,087,267
=2 9,454,000
7 = 2,944,733
JIEHMD HRlAlE SXI(2D) 5,928,200 19,870,000 A13,941,800
= 4,940,000
= 988,200
403 RHXISHH S X201 5,928,200 19,870,000 A13,941,800
= 4,940,000
= 988,200
01 MXSHAEDE 5,928,200 19,870,000 A13,941,800
OMI WAL EXI(1H4) 360,000
= 300,000
= 60,000
OM I A2AAE EXI(1HA) 3,809,000
= 3,174,000
= 635,000
OHISIMINZIX &I (3THA) 1,759,200
= 1,466,000
= 293,200
CAEHIISESHRIAIL(2D) 4,400,000 0 4,400,000
= 3,000,000
= 1,400,000
403 RHXISHHSR20H 4,400,000 0 4,400,000
= 3,000,000
= 1,400,000




SN ERTHY
M 4B H(BLRS/HIIE)
=

S B BIESCEINPEET (e @e
o 3 _ _ FSIE =
SNBSS - HRAY - BHES 0 & o4 e HIRZE2

01 REXISHHXE 2 X 4,400,000 0 4,400,000
OMHI| A2AAM &3 4,400,000
=2 3,000,000
< 1,400,000

SOEHDIZHAE & (22) 1,170,000 780,000 390,000
= 900,000
= 270,000

403 XX SHHIS K20 1,170,000 780,000 390,000
= 900,000
= 270,000

01 REXISHHXHZ 2 X 1,170,000 780,000 390,000
OSOHEEHIIS HelAl& (1) 1,170,000
=2 900,000
= 270,000

TTWEEIISAE =5 (2D) 900,533 836,000 64,533
= 614,000
= 286,533

403 XX SHHIS K20/ & 900,533 836,000 64,533
= 614,000
= 286,533

01 XEXISHH K= 2 X 900,533 836,000 64,533
OTTIHES JIBIAIE =5 (20H4) 900,533
=2 614,000
= 286,533

MOl AL (P LS /T2 8,852,726 12,267,560 13,414,834
= 1,386,000
= 4,923,000
< 2,543,726

RQiey 2F L AL 25 7,767,660 11,510,760 ~3,743,100
=2 850,000
= 4,923,000
= 1,994,660

ROSHLH 0|ZAIE(2D) 5,708,900 11,154,000 15,445,100
= 4,383,000
= 1,325,900

403 XX SHHIS X201 5,708,900 11,154,000 5,445,100
3 4,383,000
= 1,325,900

01 XIXISHAZEE 5,708,900 11,154,000 15,445,100
OYS ZESFH M3 X4 3,250,000
3 2,500,000
= 750,000
OSH HEIMHSNEY 42,900
3 33,000
= 9,900
OB Y AN, 23H AFX =9 325,000




SN BAFH
M NOSARH(BERE/NQ)
el OB B UL AL 2E (B9 &2
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
3 250,000
= 75,000
OFNH ST ST HAZLR 650,000
3 500,000
= 150,000
O3td L APME A 791,000
=l 600,000
= 191,000
OYT DMZOHY SSMENRH AT 650,000
=l 500,000
= 150,000
SIROWESMHS A NKTRIH(2D) 150,000 150,000 0
=2 100,000
= 50,000
308 X+XI IS O & 150,000 0 150,000
= 100,000
= 50,000
01 MXSHAZAHEES 150,000 0 150,000
OHIREXN MEIHEH N = 150,000
=2 100,000
= 50,000
Rols AL AL 306,760 50,000 256,760
202 01l 6,760 0 6,760
01 =Ujoi | 6,760 0 6,760
OIS HL0F ARET 6,760
307 212H0I 150,000 0 150,000
05 DI2HPIEt2 150,000 0 150,000
oRgisEY 2Y 150,000
308 X+XI IS Ol & 50,000 50,000 0
01 MXSHAZAHEES 50,000 50,000 0
OUHE A - BUHE MEAKHR 22 50,000
401 AEHILR ] 100,000 0 100,000
01 Al&d| 99,000 0 99,000
oTteistE DEHY A 99,000
03 Al&=CHHl 1,000 0 1,000
OReisEH NEHH MM 1,000
VWM SIS LR TH(2D) 900,000 0 900,000
=2 750,000
= 150,000
403 REXISHSKHZO0|H 900,000 0 900,000
=2 750,000
= 150,000
01 XXISHA=EE 900,000 0 900,000




SN BATHY

M GHSHSH(HBES/T)
Ol NEE 2 U AL HE (oA
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES O AF K 'oﬂ/'\_FOH Hlws2

o8t ZMEHS YR 420,000
= 350,000
= 70,000
OAYR 2RXY EdY 120,000
= 100,000
= 20,000
ONIZS4E MEHSYR 360,000
= 300,000
< 60,000

MEHRIE DZHEAY(2D) 702,000 0 702,000
o 540,000
= 162,000

403 XIS HSKHZ0I M 702,000 0 702,000
= 540,000
= 162,000

01 RXSHHR=LE 702,000 0 702,000
OSURY MEHNESAZUE =4 702,000
2 540,000
< 162,000

OHME - A2 B35 el 1,085,066 756,800 328,266
= 536,000
= 549,066

OFMES TaHolg(2D) 374,400 277,000 97,400
= 312,000
= 62,400

403 KX SHSIHZ0IH 374,400 277,000 97,400
= 312,000
= 62,400

01 RXESHR=LE 374,400 277,000 97,400
OOFMES TIIoH ol 374,400
= 312,000
< 62,400

MSCHers ZRIH O XY (21) 102,666 96,800 5,866
= 70,000
= 32,666

403 XX S HS =0l H 102,666 96,800 5,866
= 70,000
= 32,666

01 RXSHR=LE 102,666 96,800 5,866
OMBCIYS 2r2|H % 102,666
= 70,000
= 32,666

OFMESE2 PXLIME 2¥(2D) 174,000 160,000 14,000
= 74,000
= 100,000

307 21240/ H 174,000 160,000 14,000




S SAEUY
M NHSPEN(HFES/NH)
& OFdsS - A= Es 2 (9 E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
= 74,000
& 100,000
02 QIZtAAMEX 174,000 160,000 14,000
O0tdEs=E AT ACIHEH 29 174,000
2 74,000
& 100,000
MBETNASN SEHUM (=) 80,000 80,000 0
= 80,000
403 A XIHHSK=201H 80,000 80,000 0
= 80,000
01 MXESHMA=2E = 80,000 80,000 0
OMESXNEE SEUHH(USAIS 23) 80,000
= 80,000
o 5 - A2 B3 354,000 143,000 211,000
207 AN Y| 200,000 0 200,000
01 A= S| 200,000 0 200,000
O=EHHMdENE2 2SI AMIEEYHE 29 200,000
308 AXIHMSOIA 154,000 140,000 14,000
01 AXSMBAEEXS 154,000 140,000 14,000
O0tMESZ T2 s K& 154,000
HY2HZH(SHZ I ) (OIEH/DIE) 110,138 155,769 A45,631
ol 2| 48,534 97,665 A49,131
S8 & elAdl K& 48,534 97,665 A49,131
101 elH| 44,934 89,865 A44,931
02 JIEtEE = 44,934 89,865 A44,931
OUIOIQUHE XtSX H=35t 44,934
OF==r= 36,274
-t= 36,273,500 =1 36,274
OEsxg 1,200
-t = Xt 40,0003 128 x1H 480
-2 2AIF 20,0003 12& x3H 720
Oz ExH| 155,000« 12& 1 1,860
O M ZAH| 130,000& 122 «1H 1,560
OAIZE2l =Y 6,4823 x35A1 2+ x1H « 12 2,723
Ol &=l 50,0003 x 128 x1H 600
Otz &t
33,483,000 & *1/12%70%+*1/30*x1H » 11 "7
204 MR AH| 3,600 7,800 A4,200
02 Mg EXH| 3,600 3,600 0
osZzgga 300,000& = 12& 3,600
Jl2&Hl 61,604 58,104 3,500




A SI3FHL
SZHI(EZFH ) (DIEH/DIE

B #ye
el Jl=3 4l (el &)
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
FA2E Jl=Z | 61,604 58,104 3,500
201 Let2d| 42,704 42,704 0
01 AtE22|HI 40,544 40,544 0
ORAN2ZE AR 2Zeld] 40,544

02 =234l 2,160 2,160 0
ORM2ZE 22294l 2,160

202 O4Hl 14,400 14,400 0

01 =Wl 14,400 14,400 0
ORANMEZE =UAHI 14,400

204 X R AH 4,200 0 4,200

01 Mg HPHAH| 4,200 0 4,200
osag=g 350,000& «12& 4,200

405 KH&HFESHI 300 1,000 AT700

01 TS SHSHI 300 1,000 A700
oA (1CH) 300

XH—?—%%(:*%‘Z@&E”(E BS/HIIE) 351,126 145,500 205,626

28XE 351,126 145,500 205,626

JIEtMA D] MelAld &XI 351,126 145,500 205,626
311 Xt 301 Ataket 351,126 145,500 205,626
06 JIEtXI SO0 AH&e 351,126 145,500 205,626

©'09M YD A2ZAIE AX(SSKS) 200,548
O©'"10M I A2AAE EX(S3K3) 150,578




